GSE PreCalculus
Unit 8: Polar Functions Review
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Find four different pairs of polar coordinates that name the given point if:
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Convert from polar equations to rectangular equations. Then, identify the resulting
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Represent complex numbers (polar form) & complex number operations:

17. Explain how you would represent -3 —i on the complex plane.

18. Find the conjugate of —4 +2i . (‘,oq,gvk »o=4-2y
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20. (=1+40)—(2+7i) 21. (2-0)(3+40)
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Express each complex number in polar form:
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Converfthe polar form of a comp o its rectangular form:
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28. Evaluate: sin[ﬂ) = "E
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30. Find sec@, if the angle is in Quadrant I, sin & :%
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31. Evaluate
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32. Find the asymptotes of y = tan(2x —60) ey a,sj.u.p"\l(,‘. -1¥
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35. Find the component form of the vector, given ||5]||,® = 48°
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36. Ah airplane israveling 300 kilometers per hour due east. A wind is blowing 35
kilometers per hour S 75°W. What is the resulting velocity of the airplane?
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